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0.085
—/7.1304

1.845
—-6.5951

2.676
—/.2988

3.684
—6.9462

7.1009
—3.5145

4.2388
—8.5072

3.0023
—5.4557

2.0039
—-2.0193

8.7307
—6.7937

9.0795
—-5.4726
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0.0622 2.6639 4.4722 0.085 2.676
—3.488 —9.8936 —9.5066 -/7.1304  -7.2988
—3.4258 —7.2297 -5.0344  -7.0454 —-4.6228

6.0769 9.6353 5.8624 1.845 7.1009
—9.0746 -9.422 —/.6518 —-6.5951 —3.5145
—2.9977 0.2133 -1.7894  -4.7501 3.5864

6.4213 3.0868 1.2149 3.684 2.0039
-3.8944  -9.8252 —9.9639 —6.9462 —-2.0193

2.5269 —-6.7384 -8.749 1.7378 -0.0154

4.0916 5.8094 5.8748 4.2388 8.7307
—2.5581 —5.4298 —2.0427 —8.5072 —6.7937

1.5335 0.3796 3.8321 -4.2684 1.937

0.4867 6.9594 2.6531 3.0023 9.0795
—4.296 —3.478 -4.2634  -5.4557 —5.4726
—-3.8093 3.4814 -1.6103 —2.4534 3.6069
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